
grade                                                            English exam th12 

Name:……………………………. 

Read the following text then answer the questions. 

It isn’t hard to explain why parents, teachers and older people in general get so concerned about the negative 
effects of young people’s use of communications technology. They may be motivated by a wish to protect their 
children from harm or to control them, but throughout history older generations have always tried to put limits 
on the behaviour of the young. The only difference now is that the Internet is such a powerful force, and older 
people generally don’t really understand this new world of social media and instant communication, so they’re 

unable to control it. And the situation is changing so fast that the gap in their knowledge is widening all the 
time. In a similar way, governments, even in democratic countries, like to put limits on people’s behaviour. 

After all, it’s a large part of what governments are about. They may have more technological knowledge than 
the average parent, but the spread of social media sites and communications apps like Twitter and WhatsApp is 

making it harder and harder for them to control what their citizens are saying and doing. 

1. Why are parents, teachers and people in general concerned about the negative effects of young peoples' use 
of communication technology? 

……………………………………………………………………………………………………………………………………………………………… 

2. What did older generation try to do in the past for their young? 

………………………………………………………………………………………………………………………………………………………………… 

Decide whether the following sentences are True or False. 

1. Governments don't find difficulties to control what their citizens are saying and doing. (              ) 

2. The gap between older people and communication technology is getting larger.              (              ) 

.complete the sentences with words from the box4. 

(restrictions , borders , trend , motivated ) 

a. there is a ………………………….toward smaller and smaller telephones. 

b. the …………………………..in this school is too firm , you must wear the school uniform. 

c. the thief was caught at the ………………………..of the country. 

. (might ,will , is going to ,couldn't).complete the following with suitable modal from the box5 

a.  scientists predict that the world ………………………. have extreme weather in future . 

b. this machine ……………………………stop, the warning button is red . 

c. I …………………….. go to the USA next year, who knows . 

6. change the underlined words so that the sentence make sense . 

the job , I have the best qualifications of all .probably won't get a. I  



 


